VT LT 4—RER

SF6FE5H198(H)
g 2 | K £ 7ok 4 > | F—=%JL | HDCP | FRvk KAk
B B BEX F 37 39 76 10.8 65.2 300
E B e 44 44 88 19.8 68.2 200
3L =Y P S 42 38 80 11.7 68.3 150
AfiL ®BiE 5B 41 35 76 7.2 68.8 100
541 R#E 84T 37 40 77 8.1 68.9 90
613 KA At 43 40 83 13.5 69.5
741 KA #H— 45 42 87 17.1 69.9 75
813 @ ER 37 44 81 8.1 72.9
ofi T BE 45 39 84 10.8 73.2
1013 gl KE 37 41 78 4.5 73.5 75
1141 A& <913 43 39 82 8.1 73.9
1241 i EX 42 40 82 8.1 73.9
13{iz g =W 39 43 82 8.1 73.9
1443 A RKR 43 42 85 10.8 74.2
1541 TF FF 43 43 86 11.7 74.3
164 Xig =R 42 42 84 9.0 75.0
174 HF OEX 41 43 84 9.0 75.0
18 AN XRE 40 45 85 9.9 75.1
194 INE  IEHR 42 44 86 10.8 75.2
204z EN =R 44 38 82 6.3 75.7 45
21431 TF &iF 48 48 96 19.8 76.2
22431 FLE =PUER 52 49 101 24.3 76.7
234 RR  #E 44 42 86 9.0 77.0
2441 BH EX 49 39 88 10.8 77.2
2541 IR IESA 40 41 81 3.6 77.4
2613 mA  HEf 40 41 81 3.6 77.4
2741 =% A 52 48 100 22.5 775
2841 BX E— 48 43 91 12.6 78.4
pAsliva Bk HH 46 46 92 13.5 78.5
301 BER {FiE 40 44 84 5.4 78.6 45




VT LT 4—RER

SF6ESA198(R)
g 2 | K £ Tk 4 > | =% | HDCP | ®Rwk 7
314 XE B 47 46 93 14.4 78.6
32{if INT 46 46 92 12.6 79.4
33{i mE =I 57 54 111 315 79.5
344 hE 2 47 38 85 5.4 79.6
354 Bk E= 46 40 86 6.3 79.7
364 EE —7 46 42 88 8.1 79.9
374 B BAE 45 43 88 8.1 79.9
384 hiE B 42 50 92 11.7 80.3
394 EBA #hi 49 50 99 18.0 81.0
40%L BAR =4 44 50 94 11.7 82.3 45
Al A0 f#E 59 52 111 27.9 83.1
BBE BAR 2AF 50 49 99 13.5 85.5 75
43431 BB 52 48 100 14.4 85.6




